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4$AG
2�BB$<
�/$B$AG �A'62+G N�AG �K -G 'LAG #$4G �KB�/2.
#K4+B�$HA/$�"G#/$G�/A3�G�
�G�$4H+A�'G /4G
�$AQ/+"G$/4G�6MK3<G��-A$4#G/4GM$A+�4+$.
4$4G��-A$4GB -64G/33$AG�$BH$G�2�HQ/$AK4.
+$4G $AA$/ -HG NKA#$4"G N�AG $BG 4K4G $/4G

�4G #$AG ��4#$BM$AHA$HK4+G M64G �-$/42�4#.
�'�2QG7''4$HGB/ -G#/$G�LAGQK3G�/HQK4+BB��2G
K4#G QKAG �$ANK4#$AK4+G #$AG �/HQK4+BH$/2.
4$-3$AG HA/HHG �/4/BH$A9A�B/#$4H/4G ��2KG
�A$P$AG $/4<G �/$G �/HQK4+BH$/24$-3$AG B/4#G
� -L2$A/44$4G K4#G � -L2$AG �KBG +�4QG
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 -$4"GNL4B -HG/-4$4GM/$2G�9�,GK4#G�A'62+G
�$/G /-A$3G �6A-��$4G K4#G B -LHH$2HG 46 -G
$/43�2G 0$#$3G 9$AB742/ -G #/$G 
�4#<G �N$/G
��+$GB9�H$AG7''4$HGB/ -G#/$G�LAGQK3G�2$4�A.
B��2G#$BG�K4#$BA�H$BGK4#G#$AG�$+/$A$4#$G
�LA+$A3$/BH$AG M64G �$A2/4G �/ -�$2G �L22$AG
�$HA/HHG#$4G��K3<G�/$G�K+$4GM64G8ERG�K.
+$4#2/ -$4GB/4#G�K'G/-4G+$A/ -H$H"G#$44G$AG
-�HGB/ -G�$A$/H$A12�AH"G�2BG�K4#$BA�HB9A�B/.
#$4HG3/HG /-4$4GL�$AG#/$G�K1K4'HG�KA69�BG
K4#G�4#$A$G962/H/B -$G�-$3$4GQKG#/B1KH/$.
A$4<G �4H$AG #/$B$4G �K+$4#2/ -$4G B/4#G 5G
� -L2$A/44$4G K4#G � -L2$AG #$BG 
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/4G �$A2/4>G �/$G 4$K4G � -L2$A/44$4G K4#G
� -L2$AG#$BG
�	G4�-3$4G#6AHG�2BG�$AHA$.
H$AG #$BG ���A2�4#$BG +$3$/4B�3G 3/HG �K.
+$4#2/ -$4G �KBG �22$4G �K4#$B2�4#$A4G B6.
N/$G �KBG �BH$AA$/ -"G �4+�A4"G �KO$3�KA+G
K4#G�B -$ -/$4G�4G#$3G962/H/B -$4G�2�4.
B9/$2G ?�6#$22G �KA69�G ��A2�3$4H@G :���;G
H$/2<G�/$B$BG�A60$1H"G#�BG�$A$/HBGQK3G85<G��2G
BH�HH'�4#"G $A37+2/ -HG $BG #$4G �K+$4#2/.
 -$4"G'LAG$/4$G�6 -$G/4G#/$G�622$GM64G�K.
A69���+$6A#4$H$4G QKG B -2L9'$4<G �4G �KB.
B -KBBB/HQK4+$4G$A�A�$/H$4G B/$G QN$/G��+$G
2�4+G�$B62KH/64$4GQKG�1HK$22$4G$KA69�96.
2/H/B -$4G�-$3$4<G�/$G�A+$�4/BB$G#$AG�KB.
B -KBB�A�$/HGN$A#$4G#�44G/4G$/4$AGQN$/H�.
+/+$4G �2$4�AB/HQK4+G �22$4G �$/24$-3$A4G
M6A+$BH$22HGK4#G3/HG/-4$4G#/B1KH/$AH<
�3G�/HH$29K41HG#$BG���GBH�4#$4G#/$G�$.
��HH$4GQKG#$4G� -HG�KBB -KBBH-$3$4!G��.
�$/G B�-$4G #/$G 0K4+$4G �$2$+/$AH$4G 4/ -HG
4KAGB6G�KBGN/$G/-A$G�6A�/2#$AG�KBG#$3G�K.
A69�9�A2�3$4H"G B/$G A$#$H$4G �K -G B6<G �6G
�99$22/$AH$4GB/$G�4G#/$G�$A�4HN6AHK4+G�2BG
�KA69�$A"GBHA/HH$4GL�$AG#/$G�/4'L-AK4+GM64G
HA�4B4�H/64�2$4G �/BH$4G �$/G #$4G �KA69�.
N�-2$4G K4#G 'A�+H$4G B/ -"G 6�G #/$G�/+/H�2/.
B/$AK4+GN/A12/ -G3$-AG�A�$/HB92�HQ$GB -�'.
'$G �2BG B/$G M$A4/ -H$<G �/$G '6A#$AH$4G #�BG
��-2�2H$AG /4G$/4$AG�$BH9-�B$G�K'G8EG��-A$G
QKGB$41$4"GM$A3$-AHG�LBHK4+B164HA622��.
1633$4GQKGB -2/$,$4GB6N/$G$/4G$KA69�/.
B -$BG �/4�4Q3/4/BH$A/K3G QKG B -�''$4<G �/$G
BH$22H$4G �4#$AK4+B�4HA�+$"G BHA/ -$4G �$.
B62KH/64$4G QKB�33$4G K4#G BH$22H$4G #/$G
	$B -�'HB6A#4K4+G/4G�A�+$<G�� -G8EG�HK4.
#$4G �$��HH$G N�A$4G �22$4G �$H$/2/+H$4G #/$G
17A9$A2/ -$GK4#G+$/BH/+$G�AB -79'K4+G�4.
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+A�'G�$+2L 1NL4B -H$4G#/$G�$/#$4G� -L.
2$AG K4#G NL4B -H$4G /-4$4G 'LAG /-A$4G
N$/H$A$4G �$AK'2/ -$4G �$A#$+�4+G �22$BG
	KH$<
�$/#$G�QK�/BG-6�$4G#/$G/#$�2$4G��-3$4.
�$#/4+K4+$4G /-A$AG B -K2/B -$4G �KB�/2.
#K4+G-$AM6A"G /4G#$AGB/$G'� -B9$Q/'/B -G�$.
B64#$ABG /4G #$4G �� -$A4G ���.�$ -4/1"G
�4$K3�H/1G K4#G 
P#A�K2/1G 3/HG 36#$A4B.
H$3G�=K/93$4HGK4H$AA/ -H$HGNKA#$4<
��-A$4#G �/A 6G �/$A3�44G N$/H$A-/4G �$/G
#$AG �/A3�G�
�G�$4H+A�'G �A�$/H$HGK4#G$A.
N�+H"G $/4$G �$HA/$�B/4H$A4$G H$ -4/B -$G
�$/H$A�/2#K4+G QKG 3� -$4"G -�HG B/ -G

$4#A/1G �A/$#A/ -G QKG $/4$3G �HK#/K3G #$BG
�/AHB -�'HB/4+$4/$KAN$B$4BG �4G #$AG �4/.
M$AB/H�HG
�/B$AB2�KH$A4G$4HB -26BB$4<
�/4GN$/H$A$AG�A'62+G/4G#$AG�$AK'2/ -$4G�KB.
�/2#K4+G�3G���G
6 -N�2#GN�AG#$AGQN$/H$G
�2�HQG#$BG�$H�22��K$ABG��AM/4G�-/2/99BG�K'G
��4#$B$�$4$"G#$AGB$/4$G�KB�/2#K4+G/4G#$AG
� -26BB$A$/G �/22$BG /4G �$A2G ��B62M/$AH$G K4#G
#$3GN/AG�4G#/$B$AG�H$22$G�K -G-$AQ2/ -G+A�.
HK2/$A$4<
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+$-�2H$4GQKG-��$4<G�6GHA�HG�/Q�44$G�6-�44G
M64G #$AG ��#$A4$AG �$2$+�H/64G �$/G /-A$AG
�$#$GQKAG�$AH$/#/+K4+G#$AG�$B62KH/64G#$BG
�/2#K4+B�KBB -KBB$BGB6GL�$AQ$K+$4#G�K'"G
#�BBG#/$G�6AB -2�+$G#$BG�KBB -KBB$BG$/4$G
12�A$G�$-A-$/HG/3G�2$4K3G'�4#$4<G�KG#$4G
$ABH$4G	A�HK2�4H$4G'LAG#/$B$GH622$G�$#$G+$.
-7AH$G�3/2PG�64HQ"G#/$G�2BG�KBB -KBBM6AB/H.
Q$4#$G�$A$/HBGQK3GQN$/H$4G��2G�4G$/4$3G
���GH$/24�-3<G�K -G��K2G�� 1$BGN�AGM64G
B$/4$3G �KBB -KBBG �2BG �$AH$/#/+K4+BA$#.
4$AG463/4/$AHGN6A#$4GK4#G �6-�44�G�-6.
3$GHA�HG�4BG�$#4$A9K2H"GK3G$/4$G	$+$4A$.
#$G+$+$4G$/4$4G�KBB -KBBGQKG-�2H$4"G3/HG
#$BB$4G�$B62KH/64GB/$G4/ -HGQK'A/$#$4GN�A<
��BBG#/$G��#$A4$AG� -L2$AG�$/G /-A$4G�K'.
HA/HH$4G L�$AQ$K+$4#G N�A$4"G Q$/+HG B/ -G
�K -G/4G#$AG��HB� -$"G#�BBG'L4'G�$2$+/$AH$
�KB+$N�-2HGNKA#$4"G K3G /3G1633$4#$4G
��-AG �$KHB -2�4#G �$/G /4H$A4�H/64�2$4G
�2�4B9/$2$4GQKGM$AHA$H$4"G#/$G#�44G/4G$4+.
2/B -$AG�9A� -$G#KA -+$'L-AHGN$A#$4<
�$/G�22G#/$B$4G$A4BH$4G
$A�KB'6A#$AK4+$4G
�2/$�GHA6HQ#$3G46 -G+$4K+G�$/HG'LAG�9�,<G
��QKG+$-7AH$G�K'G0$#$4G��22G#$AG�2�B-36�G
3/HG �KA69�2K'H��2264BG �K'G #$3G ��A/B$AG
�2�HQG M6AG #$3G �A�4#$4�KA+$AG �6A<G ��$AG
�K -G#/$GBQ$4/B -$4G��A�/$HK4+$4GQKG#$4G
�-$3$4G#$AG�KBB -LBB$GB6N/$G#/$G�A�B$4.
H�H/64$4G#$BG QKG M$AHA$H$4#$4G ��.��4#$B"G
/3G��22G#$AG��#$A4$AG� -L2$AGN�AG#�BG��.
4$3�A1"G G�6H$4G	$2$+$4-$/H"G+$3$/4B�3G
QKG 2� -$4"G 
64H�1H$G QKG 14L9'$4GK4#GM64G
$/4$3G�$BB$A$4G�KA69�GQKGB -N�A3$4<G
��BG�A60$1HG/BHG�$/2G#$BGB6+$4�44H$4G�HAK1.
HKA/$AH$4G�/�26+BG#$AG ��G3/HG #$AG �K+$4#<G
��BG �$#$KH$H"G #�BBG #/$G ���.�$B62KH/64G
QK3G�-$3�G �K+$4#G H�HB� -2/ -G #$4G�$+G
4� -G�ALBB$2G/4G#$4G��HG#$AG�K+$4#3/4/B.
H$AG4$-3$4GN/A#<G��BG���G /BHG#�3/HG$/4$G
1641A$H$G�7+2/ -1$/HG'LAG#/$G0K4+$4G�$4.
B -$4"G 3/HQKA$#$4<G �A+�4/B/$AHG N/A#G #�BG
�2�4B9/$2GM63G�$A$/4G?�6#$22G�KA69�G��A.
2�3$4HG �$KHB -2�4#@"G /4G #$3G #�BG 
6 -.
N�2#.	P34�B/K3G ��#$A4G �2BG �/H+2/$#B.
B -K2$G M$AHA$H$4G /BH<G �/4$4G �KB -KBBG QKAG
�/4�4Q/$AK4+G #$BG �A60$1H$BG -�HG #�BG
�	G
/4G#/$B$3G��-AGM64G#$AG�4/64BBH/'HK4+G /4G
���A�AL 1$4G$A-�2H$4<

�$OH!G
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�4'6!G �62+$4#$G � -L2$A/44$4G K4#G � -L2$AG
#$BG
�	G-��$4G/4G#/$B$3G��-AG�3G962/H/.
B -$4G �2�4B9/$2G ?�6#$22G �KA69�G ��A2�.
3$4H@G/4G�$A2/4GH$/2+$4633$4GK4#G#��$/G
#�BG ���A2�4#G M$AHA$H$4!G �$4�G 
$4A/ -B"G
��A�G�AL33"G��K2G�� 1$B"G
�44�-G�6-�44"G
�K#/H-G�6-�44"G�/Q�44$G�6-�44"G��44/1G�6.
-�44"G �6-�44�G�-63$CG �2BG �KBB -KBBM6A.
B/HQ$4#$G -�HG �3/2PG �64HQG /4G �$A2/4G $/4$4G
�KBB -KBBG +$2$/H$HCG M6A�$A$/H$HG K4#G �$.
HA$KHGNKA#$G#/$G	AK99$G M64G�62/H/12$-A$AG
�#N/4G�/#�B<
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�42�BB"G K4#G�$#/4+HG#KA -G#/$G ��-A.
92�4K3BH$22K4+G QKG �$+/44G #$BG ��-.
A$B"G -�HG #/$G �H�#HG��#$A4G #$4G ��-A.
92�4G 4K4G �K -G /3G 9A�1H/B -$4G
�AKBHH�B -$4'6A3�HG 4$KG -$A�KB+$.
�A� -H<G�A-�2H2/ -G/BHG#$AG��-A92�4G/3G
��H-�KBG B6N/$G �$/G �22$4G �964B6A�$.
HA/$�$4"G#/$G#$4G���#�KBGK4H$ABHLH.
Q$4<G
�$AG���#�KBG-�HG�4#$GJRR&G4� -G#$AG
�A60$1H/#$$G #$BG G ?�K4#$4G �/B -$BG
�H�#H3�A1$H/4+G K4#G �/AHB -�'HB'7A.
#$AK4+@G$A'62+A$/ -G#$4G�$HA/$�G�K'.
+$4633$4<G�AGBH$22HG$/4$4G+$2K4+$.
4$4G �$/HA�+G QKAG �HHA�1H/M/.
H�HBBH$/+$AK4+G#$BG�$4HAK3BGK4#GQKAG

�K'1A�'H�/4#K4+G #�A<G �+�2G 6�G QK3G
�A/B -3�A1H"G QKAG ��41"G QK3G �AQH�$.
BK -G 6#$AG QK3G �/41�K'G /4G��#$A4$AG
	$B -�'H$4!G�$AG���#�KBG�A/4+HG#/$G
�$BK -$AG 16BH$4+L4BH/+G 'LAG 8G �G 9A6G
��-AHG0$#$4G�/HHN6 -GK4#G�A$/H�+G-/4G
K4#G N/$#$AG QKAL 1<G �3G 2�4#2/ -G +$.
9A�+H$4G 	$�/$HG #$AG �H�#HG ��#$A4G
2$/BH$HG$AG$/4$4GN$AHM622$4G�$/HA�+GQKAG
�$AB6A+K4+GK4B$A$AG�LA+$A/44$4GK4#G
�LA+$AG
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�/$G��AH4$AB -�'HG#$AG�H�#HG��#$A4G3/HG
#$AG'A�4Q7B/B -$4G	$3$/4#$G�64H36.
A/2264G 0�-AHG B/ -G4K4G QK3G)R<G��2<G�KBG
#/$B$3G 	AK4#G N$A#$4G QKG #$4G �K�/.
2�K3B'$/$A2/ -1$/H$4"G#/$GQ$/H+2$/ -G3/HG
#$3G ��#$A4$AG �H�#H'$BHG �3G $ABH$4G
�K4/N6 -$4$4#$G BH�HH'/4#$4G N$A#$4"G
*RG	�BH$G�KBG#$AG��AH4$A1633K4$G$A.
N�AH$H<G �KB'L-A2/ -$G �41L4#/+K4+G
'62+H<G
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